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RENRE SRIBEERPIAIH 1 AT R S R 2T

% [ R& - BIKTE Bif % B B i ® % wmE
E#ER A 17, 604, 801
TIHEEMEMEICE T 2MMMITREREES 17, 604, 801
TIBEEMEMEICE T 2 MMMITREREES 17, 604, 801
TIBEEMEMEICE T 2 MMMITREREES 15, 812, 400
FEES 381,100
1 B 1.00 381,100 381,100
=
MITREI KD 13, 690, 400
2 BEMIREERE 1.00 356, 600 356, 600
=
3 BRIEORER VREDHMH 1.00 648, 600 648, 600
=
4 BHERAEICEY SR 1.00 6, 095, 900 6, 095, 900
=
5 BERBRYIaL—Y3avITkdiE 1.00 5,451, 500 5,451, 500
=
6 FEEMICHIT-REEFDRE 1.00 1,137, 800 1,137, 800
=
EZEROFME 952, 000
1 ZERFME - BE 3.00 182, 000 546, 000
]
8 EXREFME - BE 1.00 182, 000 182, 000
]
9 BEENIEN 1.00 224,000 224,000
=




RENRE SRIBEERPIAIH 1 AT R S R 2T

% L] BRE - BIRTE Bify B B i ® #® wmE

R 397, 600

10 SRESIER 1.00 397, 600 397, 600
=

& - |E 391, 300

11 HaT5E 1.00 108, 600 108, 600
]

12 PREHRE 1.00 108, 600 108, 600
]

13 HR|E 1.00 174,100 174,100
]

E#EEE 1,792, 401

EHARE 154, 211

14 £BAME 1.00 154, 211 154, 211
=

EBRERE 630, 000

15 EBHRLE 1.00 180, 000 180, 000
=

16 ZEESWMEE 1.00 450, 000 450, 000
=

ZERERERUKRE 1,008, 190

17T ZE2ERERUVKRE 1.00 1,008, 190 1,008, 190
=




wiEx SHIFEERMEICE T HMMMITRERFES

4 g B - K& B % = L] ® = W=
BRI 15,812,400 + 1,792, 401 17, 604, 801
BEEAGE 15, 812, 400
BE#RE 1,792, 401
Z O fth S5 f 15,812,400 x 53.85% ( 35% + (1 — 35%) ) 8,514,977
e 2 i 17,604,801 + 8,514,977 26,119,778
—REEES 26,119,778 x 53.85% ( 35% + (1 — 35% ) ) — 5,278 14, 060, 222
KBS 26,119,778 + 14,060, 222 40, 180, 000
HBEREALE 40,180,000 x 10.00% 4,018, 000
e EHTL 40, 180,000 + 4,018, 000 44,198, 000




K& -ET/\vr—2

HHIFEEREFTBICE T HMAMMTR 2R R

=1
B - FHEER 1RHY
% 7 R - AR R B3 = B & # & B &
HEnR
A 1.00 65, 500. 00 65, 500
EX: T TC D)
A 1.50 57, 400. 00 86, 100
A (A)
A 2.50 51, 200. 00 128, 000
A (B)
A 2.50 40, 600. 00 101, 500
& i YEZREN - 1.00K 381, 100. 00 381, 100
5:2
2 FF : BRI ERE 1RHY
% 7 R - AR R B3 = B & # & B &
A (A)
A 3.00 51, 200. 00 153, 600
A (B)
A 5.00 40, 600. 00 203, 000
& i YEZREN - 1.00 356, 600. 00 356, 600
&S :3
& ERHEOBERUVEEOHE 1RHY
% 7 R - AR R B3 = B & # & B &
EEREM
A 1.00 57, 400. 00 57, 400
A (A)
A 2.00 51, 200. 00 102, 400
A (B)
A 3.00 40, 600. 00 121, 800
HEm (C)
A 5.00 32, 800. 00 164, 000
Hftt &
A 7.00 29, 000. 00 203, 000
& i YEZREN - 1.00K 648, 600. 00 648, 600
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HHIFEEREFTBICE T HMAMMTR 2R R

EE .4
L BRHERMEICET 5K 1RHY
% 7 R - AR R B3 = B & # & B &
HEnR
A 5.00 65, 500. 00 327, 500
EEREM
A 16. 00 57, 400. 00 918, 400
A (A)
A 28.00 51, 200. 00 1, 433, 600
A (B)
A 46. 00 40, 600. 00 1, 867, 600
HEm (C)
A 26. 00 32, 800. 00 852, 800
Hftt &
A 24.00 29, 000. 00 696, 000
& i YEZRED - 1.00 6, 095, 900. 00 6, 095, 900
EE =)
L BLEXERCI A L—Ya vtk BB 1RHY
% 7 R - AR R B3 = B & # & B &
HEnR
A 1.00 65, 500. 00 65, 500
EEREM
A 9.00 57, 400. 00 516, 600
A (A)
A 25.00 51, 200. 00 1, 280, 000
A (B)
A 36. 00 40, 600. 00 1, 461, 600
HEm (C)
A 41.00 32, 800. 00 1, 344, 800
Hftt &
A 27.00 29, 000. 00 783, 000
& i YEZRED - 1.00 5, 451, 500. 00 5, 451, 500
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HHIFEEREFTBICE T HMAMMTR 2R R

ES:6
B EEEREICH I - RESORE 1RHY
% 7 R - AR R B3 = B & # & B &
HEnR
A 2.00 65, 500. 00 131, 000
EEREM
A 3.00 57, 400. 00 172, 200
A (A)
A 6.00 51, 200. 00 307, 200
A (B)
A 6.00 40, 600. 00 243, 600
HEm (C)
A 6.00 32, 800. 00 196, 800
Hftt &
A 3.00 29, 000. 00 87, 000
& i YEZRED - 1.00 1, 137, 800. 00 1,137, 800
E&S:7
& REREHE - EE H=ED)
% 7 R - AR R B3 = B & # & B &
EEREM
A 1.00 57, 400. 00 57, 400
A (A)
A 1.00 51, 200. 00 51, 200
A (B)
A 1.00 40, 600. 00 40, 600
HEm (C)
A 1.00 32, 800. 00 32, 800
& it YE%8EH - 1.00E 182, 000. 00 182, 000
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HHIFEEREFTBICE T HMAMMTR 2R R

S :8
B EEISRE - EE H=ED)
% 7 R - AR R BARE = i & # & B &
EEREM
A 1.00 57, 400. 00 57, 400
A (A)
A 1.00 51, 200. 00 51, 200
A (B)
A 1.00 40, 600. 00 40, 600
HEm (C)
A 1.00 32, 800. 00 32, 800
& it E%8eH - 1.00E 182, 000. 00 182, 000
=)
ZF BB ERMER 1RHY
% 7 R - AR R BARE = i & # & B &
EEREM
A 1.00 57, 400. 00 57, 400
A (A)
A 1.50 51, 200. 00 76, 800
A (B)
A 1.00 40, 600. 00 40, 600
HEm (C)
A 1.50 32, 800. 00 49, 200
& it YEZRED - 1.00 224, 000. 00 224, 000
H5:10
B REEER 1RHY
% 7 R - AR R BARE = i & # & B &
EEREM
A 1.50 57, 400. 00 86, 100
A (A)
A 2.50 51, 200. 00 128, 000
A (B)
A 2.50 40, 600. 00 101, 500
HEm (C)
A 2.50 32, 800. 00 82, 000
& it YEZREN - 1.00K 397, 600. 00 397, 600
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HHIFEEREFTBICE T HMAMMTR 2R R

#5511
2 . BATHE HEER
2 Lo R - KT B = B M € &8 # w %
FEHER
A 1.00 57, 400. 00 57, 400
A (A)
A 1.00 51, 200. 00 51, 200
& it 1YEZHER - 1.00[E 108, 600. 00 108, 600
H5 :12
AF : hEHRE 1EHY
2 Lo R - BAK~TiE B = B M € &8 # i %
F R
A 1.00 57, 400. 00 57, 400
BEm (A)
A 1.00 51, 200. 00 51, 200
& it 1YEZHER - 1.00[E 108, 600. 00 108, 600
H5:13
2 . ZB|E HEED)
2 Lo R - KT B = B M € &8 # w %
HER
A 1.00 65, 500. 00 65, 500
FEHER
A 1.00 57, 400. 00 57, 400
A (A)
A 1.00 51, 200. 00 51, 200
& it 1YEZHER - 1.00[E 174, 100. 00 174,100
H5: 14
2% EHARE 14y
2 Lo R - KT B = B M € &8 # w %
EHARE
= 1.00 154, 211.00 154, 211
=) it 1YE%HEH - 1.00K 154, 211.00 154, 211




K& -ET/\vr—2

HHIFEEREFTBICE T HMAMMTR 2R R

H5 : 15
2 EBHRRE 14y
2 Lo R - KT B = B M € &8 # w %
(BRRRE
= 1.00 180, 000. 00 180, 000
& it 1YEZHEH - 1.00K 180, 000. 00 180, 000
=5:16
2% TESHREE 1K%Y
2 Lo R - BAK~TiE B = B M € &8 # i %
FESWmEE
= 1.00 450, 000. 00 450, 000
& B 1YEZHEH - 1.00K 450, 000. 00 450, 000
&H5 17
& RERERERVIRE 1%y
2 Lo R - BAKTiE B = B f € &8 # w %
ZERRERURE
= 1.00 1,008, 190. 00 1,008, 190
& it 1YE%HEH - 1.00K 1,008, 190. 00 1,008, 190




